Serampore Girls' College

(Estd.: 1981)
Re-Accredited by NAAC : Grade B (2nd Cycle)

13, T. C. GOSWAMI STREET, SERAMPORE, HOOGHLY. PIN-712 201, WEST BENGAL.

E-mail: serampore_girls_college@yahoo.co.in Website: www.seramporegirlscollege.org

Ref. No.		
----------	--	--

Date 11/12/2019...

Students benefited by scholarships and freeships provided by the institution, government and non-government bodies, industries, individuals, philanthropists

Academic session: 2018 - 19

SI.	Financial Support by State Govt. to girls students	No. of Students	Per head scholarship / Support	Total
10.	3	K1 : 49	Rs. 1,000/-	49000
	Women Empowerment Scheme of		Rs. 25,000/-	10625000
01	State Government , Kanyashree	K2 : 425		5532000
_		B.A= 461	Rs. 12,000/- (for Arts)	000200
	Swami Vivekananda Merit Cum			1152000
02	Means Scholarship	B.Sc=64	Rs. 18,000/- (for Science)	
				97200.00
04	AIKYASHREE (For minority	455	Rs. 5,400/-	
04	section)			734400.00
	(OC / CT coholarship)	136	Rs. 5,400/-	
05	OASIS (SC / ST scholarship)			770000
06	Chief Minister Scholarship	77	Rs. 10,000/-	
Sch	olarship by College Authority			Rs.16000
07	Freeship Provided by Serampore Girl College	s 66	Full and half fee waive	

Total students 1773 Total amount: 18975600.00

Some by

Principal Principal Serampore Girls' College Serampore, ricont 'y

Serampore Girls' College

(Estd.: 1981)

Re-Accredited by NAAC : Grade B (2nd Cycle)

13, T. C. GOSWAMI STREET, SERAMPORE, HOOGHLY. PIN-712 201, WEST BENGAL.

E-mail: serampore_girls_college@yahoo.co.in Website: www.seramporegirlscollege.org

R	ef.	No.	

Date ... 16/12/2020

Students benefited by scholarships and freeships provided by the institution, government and non-government bodies, industries, individuals, philanthropists

Academic session: 2019 - 20

SI. No.	Financial Support by State Govt. to girls students	No. of Students	Per head scholarship / Support	Total
01	Women Empowerment Scheme of State	K1 : 76	Rs. 1,000/-	76000
	Government , Kanyashree	K2 : 363	Rs. 25,000/-	90750 00
02	Swami Vivekananda Merit	Arts: 455	Rs. 12,000/- (for Arts)	5460000
Cum Means Scholarship	Cum Means Scholarship	Science; 75	Rs. 18,000/- (for Science)	13500 00
04	AIKYASHREE (For minority section)	480	Rs. 5,400/-	788400.00
05	OASIS (SC / ST scholarship)	169	Rs. 5,400/-	912600.00
06	Chief Minister Scholarship	69	Rs. 10,000/-	690000

Total student

1687

total amount: 18352000

Principal

Principal Serampore Girls' College Serampore, Hoods M

Serampore Girls' College

(Estd.: 1981)

Re-Accredited by NAAC : Grade B (2nd Cycle)

13, T. C. GOSWAMI STREET, SERAMPORE, HOOGHLY. PIN-712 201, WEST BENGAL.

E-mail: serampore_girls_college@yahoo.co.in Website: www.seramporegirlscollege.org

Ref.	No.	•••••

Date .15 12 2021.

Students benefited by scholarships and freeships provided by the institution, government and non-government bodies, industries, individuals, philanthropists

Academic session: 2020 - 21

SI. · No.	Financial Support by State Govt. to girls students	No. of Students	Per head scholarship / Support	Total Amount
	Cahama af	K1 : 17	Rs. 1,000/-	17000
01	Women Empowerment Scheme of State Government , Kanyashree	K2 : 78	Rs. 25,000/-	1950 000
	Swami Vivekananda Merit Cum	Arts: 319	Rs. 12,000/- (for Arts)	3828000
02	Means Scholarship	Science: 63	Rs. 18,000/- (for Science)	1134000
04	AIKYASHREE (For minority section)	113	Rs. 5,400/-	610200.00
05	OASIS (SC / ST scholarship)	201	Rs. 5,400/-	1085400.00
06	· Chief Minister Scholarship	95	Rs. 10,000/-	950000
Scho	plarship by College Authority			
07	Freeship Provided by Serampore Girls College	26	Full and half fee waive	Rs. 15522

Total students

912 Total Amount: 9590122.00

Principal

Principal Serampore Girls' College Serampore, Hoon! Y

Serampore Girls' College

(Estd.: 1981)

Re-Accredited by NAAC : Grade B (2nd Cycle)

13, T. C. GOSWAMI STREET, SERAMPORE, HOOGHLY. PIN-712 201, WEST BENGAL.

E-mail: serampore_girls_college@yahoo.co.in Website: www.seramporegirlscollege.org

Ref	No.		
101.		• • • • • • • • • • • • • • • • • • • •	

Date 4 12 2022

Students benefited by scholarships and freeships provided by the institution, government and non-government bodies, industries, individuals, philanthropists

Academic session: 2021 - 22

SI.	Financial Support by State Govt. to girls students	No. of Students	Per head scholarship / Support	Total amount
10.		K1:0	Rs. 1000	0
	Women Empowerment Scheme			425000
01 ·	of State Government	K2: 17	Rs. 25,000/-	
	(Kanyashree)	Arts :441	Rs. 12,000/- (for Arts)	5292000
02	Swami Vivekananda Merit Cum	Science :91	Rs. 18,000/- (for	16380 00
02	Means Scholarship	Science :91	Science)	12222200000
			D 5 400/	1009800.00
04	AIKYASHREE (For minority	187	Rs. 5,400/-	
04	section)		5 400/	1134000.00
05	OASIS (SC / ST scholarship)	210	Rs. 5,400/-	
	G/1.070 (T 40,000/	340000
06	Chief Minister Scholarship	34	Rs. 10,000/-	
		1	D 0000	144000
07	Social Welfare scholarship from Dept of Labour	24	Rs.6000	
Sci	nolarship by College Authority			
08	Freeship Provided by Serampore	95	Full and half fee waive	Rs. 630 52

Total Student: 1099,, Total amount 10045852.00

Sour Pa

Principal

Principal
Serampore Girls' College
Serampore, Hoont, Y

Serampore Girls' College

(Estd.: 1981)

Re-Accredited by NAAC : Grade B (2nd Cycle)

13, T. C. GOSWAMI STREET, SERAMPORE, HOOGHLY. PIN-712 201, WEST BENGAL.

E-mail: serampore_girls_college@yahoo.co.in Website: www.seramporegirlscollege.org

Ref. No		
---------	--	--

Students benefited by scholarships and freeships provided by the institution, government and non-government bodies, industries, individuals, philanthropists

Academic session: 2022 - 2023

SI. No.	Financial Support by State Govt. to girls students	No. of Students	Per head scholarship / Support /year	TOTAL
	-	K1 : 08	Rs. 1,000/-	Rs. 8000.00
01	Women Empowerment Scheme of State Government , (Kanyashree)	K2 : 85	Rs. 25,000/-	Rs. 2125000.00
		BA:329+282=611	Rs. 12,000/- (for Arts)	Rs. 7332000
	Swami Vivekananda Merit			Rs. 1494000
02	Cum Means Scholarship	BSc: 30+53= 83	Rs. 18,000/- (for Science)	NS. 140 1000
				Rs. 783000
04	AIKYASHREE (For minority	145	Rs. 5,400/-	
	section)			Rs. 496800.00
05	OASIS (SC / ST scholarship)	92	Rs. 5,400/-	
		30	Rs. 10,000/-	Rs. 300000
06	Chief Minister Scholarship			
Sch	olarship by College Authority			
07	Freeship Provided by Serampore Girls College	37	Full and half fee waive	Rs. 65365

Total Students: 1054 Total amount: 12604165.00

Soma Roy

Principal Principal Serampore Girls' College Serampore, Hoogh